b FE2THA—F

BB B "20164E10 8 11H (k)

H7/78  2016.10.11 16:37

B HFIE YT FiLk—aA g1 2 6 7 8 9
Za7ThHy h &R 49 M2 3 4 5 6 7
fERo—XA HEHEAE W1 2 4 5 6 T
Bk F BMEG0 0 L6 0
JBRIREFE AN F a4 BT RAY Y BIASK  BMSIA RPN ANSIA

JEAL BINE K4 B | B | 7 |GROSS|HDCP| NET |cosswi 3

1 APR *x 37 40 41 11812.0 [106 0

2 |FElE  kk 36 41 41 118112.0 [106 0

3 KRR ok 42 41 39| 122]14.4 |107.6

4 [JBH  ** 39 36 39! 114} 6.0 [108.0

5 [AFR wk 39 41 39| 119]10.8 [108 2

6 IR * 45 38 40! 123/13.2 1109.8

1T EBE xx 47 47 46 140[30.0 |110 0

8 |HZx kwk 40 43 42] 125/14.4 [110 6

9 |BF  *x 40 36 36 112] 1.2 [110 8

10 BF] sk 41 41 40/ 122110.8 [111 2

11 |9 ok 39 44 39 122110.8 [111 2

12 4 ** 43 49 54| 146/34.8 |111.2

13 BEHE ek 42 38 43]  123[10.8 [112.2

14 1R T % 44 44 40/ 128/15.6 (112 4

15 750 sk 48 42 44| 134/21.6 1112 4

16 BIO 47 44 49] 140/27.6 [112 4

17 [BFH  kk 44 492 470 133120.4 [112 6

18 E sk 48 47 421 137124.0 113 0

19 JEQ 50 42 44| 136/22.8 113 2

20 \FEE xx 46 42 54] 142028.8 [113 2

21 KH  xx 55 44 49| 148/34.8 [113 2

22 \IEEE * 46 45 50/ 141/27.6 |113.4

23 |5/ wx 46 40 41, 127/13.2 [113.8

24 (WREF A% 45 46 46 137/22.8 [114.2

25 |BEH  xx 54 47 48| 149/34.8 1114 2

26 EH  H* 41 41 42 124] 9.6 |114.4

27 Bpae B % 45 43 42 130/15.6 |114 4

28 B *x 44 56 48 148/33.6 [114 4

29 |BIA % 49 44 41 134/19.2 [114 8

30 |kRFE *x 46 42 46| 134119.2 [114.8

31 |7 x | 50 47 49| 146/31.2 |114.8

32 PR xx 47 55 50! 152[37.2 |114.8

33 _| =’ x 41 41 450 127/12.0 [115.0

34 |HE 45 45 47| 137]21.6 [115.4

35 IRfE kkx 40 49 46| 135/19.2 '115.8

36 =3 xx 44 48 51| 143/26.4 1116.6

37 _\HJI| *x 47 43 50| 140/22.8 [117 2

38 B3 *x 55 48 60| 163/44.4 118 6

39 BB #x 46 49 49| 144/25.2 [118.8

40 THEE Rk 50 51 55/ 156/37.2 [118.8

41 /NI ek 50 50 55| 155(36.0 |119 0

42 BT 47 51 56/ 154/34.8 [119.2

43 R *x 47 52 47) 146/26.4 [119 6

44 BiE  *x 48 53 51| 152/31.2 [120 8

45 |ZE * 47 59 45/ 151130.0 [121 0

46 | x 52 44/ 511 147/25.2 121 8

47 I 58 55 55| 168/45.6 |122 4

48 FE  xx 55 54 50/ 159'36.0 |123.0

49 @K ek 51 55 44 150/24.0 1126.0 !

50 IEE  *x 60 55 50, 165/38.4 126 6 |

51 \®JIl =* 57 51 49| 157[30.0 1127 0 |

52 M3 #* 61 66 69| 196/60.0 [136 0

53 A xx 61 69 67| 197!57.6 139 4
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